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Instructions to the Candidates

['he the

prov istonal In the event of any ntormatron

admission 1o examinapon s

furmished by the candidate found talse/
incorrect/incomplete detected at any stage.,
the candidature shall be rejected

Darken the circles in the OMR Sheet
~~ewtesaty with Blue / Black ball point

Partial darkening shall not be

.! two or more circles completely/
shall not be evaluated.

the darkend circle in any manner
mark/using white fluid/erasing by
ruoveranade ete. shall not be evaluated.
This aquestion booklet shall not be gpened
until instructed Write your Roll No. correctly

in this booklet as well as in the OMR ANSWCT

sheet.

The candidate should chedk the No. of
printed pages and Que stions alongwath ther
Serial Nos. [n case of any discrepancy found
exchange the defective one and collect
another correct one from the invigiator
within five minutes and thereafter no
complatnt shall be enter tained

The examination shall be conducted as per

the Odisha Examination Act, 1988.
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ALGINQT 999-9AIQ Ageg Qo1
JAE 609 919 Qa6 RAUAIR2AR ?

(A) gga
(B) Qi@
ACFqal

(D) Qmg

2. Q909 99 : 2.

(A) AegIge g&9l
(B) qieae gga
(C) 498 gl

D) 66oa goal

3. U2Qd 9994 69Q d94 ¢ Qe | 3.

QG ?

(A) 99R-99IQ 594 6]
(BY Bgens 896 6q
(&F 299X 994 09

(D) QU6QIB 6906 6L

SET-C 121

1.

Which anima] woo "¢

. mal was taken by
Thorndike for hig second experi-

ment of Trial and gy,
learning ?

(A) Dog
(B) Cat
(C) Rat

theory of

(D) Simpanzee

Maturation is a :
(A)" Psychological process
(B) Mental process

(C) Leamning process

| (IYZBiological process

Which learning theory is associ-
ated with transfer of training ?

(A) Trial and Error
(B) Conditioning

(C) Insightful learning
(D) .None of the above
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‘Personality’ 06 QUSRS 694 90
212 ?

(A) Q8@
(B) Qdaia
L(/ QR

(D) Qd6em

Ar6R0e Gyl uwy 698 91 | 6.

JRANNEE U0 Q6E] QACIT ?

(A) QaQe

(C) aede ARgQAR

(D) QIR KRAA
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Which is correct from mastery
lcarning point of view ?

(A) Equal learning objectives for
all the learners

(B) Method of teaching is equal
for all the lecarners

(C) Rate of learning is equal for
all the learners

(D) Learning time is equal for all
the learners

From which Latin word the term
‘Personality’ has been derived ?

(A) Person

(B) Personal
(C) +Persona
(D) Personnel

For which group of learners,

sign language method 1s most

_appropriate ?

(A) Visually impaired

(B) Hearing impaired
(C) Mentally retarded
(D) Physically disabled

(Turn over)



OTET-P-11/17 (1st)

What type of teacher s appointed

7 Gama Gaidnies S8 8068 6 | 7.
led Jearners !

QRIS SR M5l CXIIIWeN 7 (o teach the disab

(é) ARm SIRW (A) Resource tcacher

(B) f g8 (B) Efficient tcacher

(C) -l sk (C) Experienced teacher

(D) Qaw daw (D) Subject teacher

8. 66 QUAQ U9O Q09 0Ig GI'a AIeda 8. If the mental age is less than the

QO @] 696M 64 6@ 65N IR ? chronological age of an individual,

then to what category does he

/(/)) P QARIRE YRANR belong 7

N (A) Below average intelligence
(B) 2Q1:1Q€ Q@RUAN '
(B) Exceptional intelligence

(C) 26 Q@UaR ' ‘
(C) High intelligence

(D) 6¢% EQAn (D) Superior intelligence

9 gglaa aan aeada eaa ga and ? | 9. Which characteristic does a good
test have ?

(A) QUELAIGS!
(A) Usability

S (B) Reliability
(C) &_ue! (C) Validity
.
(D 1 aag (D) All of the above
SET-C (4] - (Continued)
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(A) 639919g
AB) a1y Qiuieql
(C)-ER6AIULR
(D) Qe8! QIYIegl

12.
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10. A teacher prepared a test in
Mathematics and administered it
10 a group of students. He then
administered a standardised test
to the same group. The coeffi-
cient of correlation of two sets
of marks so obtained was +0.90.
What does it indicate about the
teacher-made test ?

(A) The test is valid

(B) The test is reliable

(C) The test is objective

(D) The test is objective based

11.  Which statement is correct ?

(A) Development is not based on
the influence of heredity and
environment

(B) Development does not

proceed in specific direction

(C) Development of each

individual is unique

(D) Development of each

individual is not continuous

At which stage of development
the child becomes imaginative ?

(A) Infancy

(B) Pre-childhood
(C) Adolescence

(D) Late childhood

(Turn over)
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Where did Pavlov experiment his

conditioning lcarning theory ?
(A) Lehngrad

(B) Johannesburg

(€) Cape town

(D) Mexico

At what stage of intellectual
development does ego-centric
thinking of the child develop ?
(A) Sensory motor

(B) Pre-operational

(C) Concrete operational

(D) Formal operational

At what stage of development,

tecam-spirit of children changes ?
(A) Childhood

(B) Pre-adolescence

(€) Adolescence

(D) Pre-adulthood

(Continued)
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(A) 688@ AN G0
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3 3 4,9, 8
(A)y4
(B) 3

© 3

(D) 87
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2098 ?
(A) 2IERSR QRS

Q/Q@a Qee

(C) aayIQ Q8

(D) egel 080
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Knowledge in which subject helps
the teacher to identity the individual

differences among the learners 2
(A) fidu;:ationul Sociology
(B) Educational Psychology
(C) Educational Philosophy

(D) Pedagogy

What is the median of the following
scores !

3,5 4,9, 8
(A) 4
(B) 3
(C) 5
(D) 8

Which one comes under activity
based learning ?

(A) Discussion method
(B) Project method
(C) Practice method
(D) Narration method

(Turn over)
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CANYE QUININAINS Qg E8ieh
ERLS VIOYFNER FINA QY 2 ?

(A) 98
(B) §q
(C) S|y
(D) a6

QR6QIaYS SN 690 YO 69IN1R
2RQS ?

(A) QIede agauige
B) 218 agRIgS
(C) QAo agauIge
(DY 691683 6%

Jeleee £19 2A9KI6R 69189 QRIF6Q
9@ Q°QIduud 00499 AR A
6@60 ?

(A) 2Q7<8
(B)ﬂqlzc.\é
(C) 12g17<d

(D) 18qef
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Which of the following 15 the
most important in learner centred
curriculum”’

(A) Teacher
(B) Child
(C) Content

(D) Environment

Visually impaired learners belong
to which category of disability
group ?

(A) Mentally disordered

(B) Economically backward
(C) Socially disadvantaged

(D) None of the above
According to Piaget what is the
average age limit of the child
during concrete operational
period of cognitive development ?
(A) 2to7 years

(B) 71012 years

(C) 1210 17 years

(D) 18 years and above

(Continued)
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Lecarmmg 15 a process of progres,
sive enforcement of behaviour ™

Who stated o 7
(A) Crates

(B) Kinble

() Cavlin
(D) Skinner
“Atthe primary level while teaching
alphabets emphasis is given on

writing and speaking.” What
learning theory is based upon ?

(A) Trial and error theory of
learning

(B) Observation learning theory
(C) Conditioning theory of leaming
(D) All of the above

Which characteristics is seen
among backward learners ?

(A) Ability to analyse

(B) Objective-based behaviour

(C) Desire for vocation of repute

(D) Inability to express concepts |

(Turn over)
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(B')» Q@6 9@ 41913@ 9Tl
(C) Q& 4@ 94Iae 9gal
(9)/ Q14 9@ NR3IPR 9G9I

“6REAIREa NERIYE QAR
AT QYIBQ QA QIR 9Q°
6Q9AIREA A6RIQE ARIAUND,
6QRIREA MG N AR’ | 9L
@4 QRYER ?

(A) 60168 g
(B) 6916 6@
(O) aImeaae
Dy e =t

MINACA TR gNIa KIGY NIUNER
dRIAIER 2128 @Qael ANGR
2QE0S YR8 @RQ! QIR P69IB 699
AO0Q MALIQ YAIRANG ?

(/}V@loqgﬂ
(Bl QA0Qg

(C)~ 06

- (D) Qo
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25 Which one 1s correct ?

26.

2,

[10]

(C)

(A) Growthisa mental process

(B) Development is a plhysica1
process
Growth is a qualitative process

Development is 2 psycho-
logical process

(D)

“Whose attitude is conservative,
his personality is conservative
and whose attitude is positive, his
personality is also positive.” Who
stated it ?

(A) Morton prince
(B) Met Feasal
(C) Eysenik

(D) Mac Clasky

Which term is used to express
the totality of the learning
experiences that the pupil receives
through manifold activities in the
school ?

(A) Curriculum

(B) Content

(C) Lesson plan

(D) Syllabus

(Continued)
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18, CHAIeR 691R Qe AVISYLRR AINw 28, What is the formula for calculating
aqic ago QaeIa Qe Q'€ ? - the SD of ungrouped data ? .
(A)/ Y EX (A) 23
N N
S FX ZFX?
(B) ® M5
N N

Exl 2
O\ ©) ,E;(

2 2 2
o) Ji.x_[}:_gx] o F{%(zm

19, eoied Q@A 1.Q. 150 9 S'aM.A. 29 If1.Q.of apersonis 150 and M.A.

Z.

30 626@ C.A. 6066 629 7 30, then what is the value of C.A.?
(A) 05 (A) 05
(B) 15 (B) 15
(9, 20 (C) 20
(D) 25 D) 25

30. ceec Qals g 40- 44q 999 | 30. Which of the following indicates
the real limits of a class interval

Qifg 9eId ?
(A) 40.5-43.5 e

(A) 40.5-43.5
(B) 39.5-435 B) 39.5-435
(€y39.5-44.5 (C) 39.5-445
(D) 40.5-45.5 (D) 40.5-45.5
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QLIAIRVRS QIE |

3. 26 G FEAGA ABIQ JF HAMNSNR QTR ?
(4) BIGAIES 6Q60YEN 6TRITR GA4Q 4 AINYIQ
(B) om 899 & 2919
(C) 6ORINRARE 19 é@lm@ faiQ

(D) GQ}&S!@’-!@!GG’ 2R FAS AYAIQ RN
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SET-C ; [19] (Turn over)
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65.

66.

67.

6l.

ENGLISH \ OTET-P-11/17 (150)

( '
| J )
The biker took u-turn at the traffic post )
(A many (B) few
(C)a () an

Which sentence is grammatically acceptable ?
(AW 1Us casy, isn't it ? (B) 1t's casy, 1sntat”

(C) It's easy isn't it ? (D) Its casy isn'tit”

He was made ___ his remarks.
W/Io withdraw (B) withdraw
(C) towithdrawing (D) withdrawn

He fought

to keep his job-

(A) tooth or nail (B) tooth and nail
(C) by tooth and nail (9).— with tooth and natl
[ was shocked ____ your attitude.

(A) for (B7 on
(Q/Jf (DY with

She jumped off the bus while it .
(A) moved | _(B)-was moving
(C) had moved (D) is moving

Pick out the error part of the sentence.

It is difficult to explain
( A)\, Sl

the Nationa $
(D)

h‘—lL— it
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Jlo ! G ing, Jack !
68, Mr. Pattnaik : Hello! (;ood morning,
Is my car ready ?

Jack * Good morning, Sir ! Wait a bit, plcase.

It TR
_—was repaired

(A) s reparred (B), 1S 1C}

(C') had been repaired (,[-D"' is being repaired

69. Our Headmaster has asked us why ?

(A) are we late (B) we were late

(C')_we are late (D) were we late

/S

70. Before I have breakfast, I _ half an hour doing physical exercise.

(A) have spent (B) spent

(/(")/spcnd

Read the passage carefully and answer the questions (No. 71 to
No. 75) that follow choosing the correct alternatives given :

(D) will spend

Once at noon in a forest, a young lion and a young cougar were thirsty.
Both the thirsty animals arrived at their usual water hole at the same time.
They immediately began to argue about who should satisfy their thirst first.
The argument heated, each decided he would rather die than to give up the
privilege of being first to quench his thirs(.

As they stubbornly confronted each other, their emotions turned to
rage. Their cruel attacks on each other were suddenly interrupted They
both looked up. Circling overhead | -

8 Wwas a flock of vultures waiting for the

loser to fall[@“iﬁétly the two beasts turned and walked away. The thought
of being devoured was all they needed to end their quarrel b

SET-C [46 ]
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The lion and the cougar came to the water hole

(A) to havea bath
(B) tohavea wash
(¥ to quench their thirst
(D) to catch a prey
What made them fight each other ?
(A) They were enemies of one another.
(B) Each of them was very submissive.
(C) They were different in race.
(DyFEach of them wanted to drink water first.
Their fight was interrupted by — -
(A) a group of lions
(B) a group of cougars
(Cheaa group of vultures
(D) a group of other animals
Why did the two beasts stop their quarrel ?
(A) They were exhausted.
(By~ They were peace loving animals.
( C)/T hey thought of getting finished.
(D) It was evening.
Why were the vultures flying overhead ?
(A To have a drink in the water hole.

}B’ETO have a common bath.
(C) To watch a great ﬁghtmme two beasts.

(D)-Te have a hearty meal after the fight.

L

(Turn over)
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. questi (No. 76
Read the poem carefully and answer the questions ty

No. 80) choosing the correct alternatives given :

The athletes had come from all over the country
Torun for the gold, for the silver and bronze
Many weeks and months of training

All coming down to these games.

The spectators gathered around the old field
To cheer on all the young women and men
The final event of the day was approaching
Excitement grew high to begin.

The blocks were lined up for those who would use them
The hundred yard dash and the race to be run

These were nine resolved athletes in back of the starting line
Poised for the sound of the gun,

The signal was given, the pistol exploded

And so did the runners al] charging ahead

But the smallest among them, he stumbled and staggered
and fell to the asphalt instead.

76. The poem narrates level athletic competition.
(A) zone (B) state
(Cynational . (9)/ imemnational
77. It was a race.
(A) 100 metre 4BY 100 yard
(C) 100 feet (D) 100 kilometre
78. How many athletes did participate ?
M]ine (B) nineteen
(C) ninety (D) ninety nine
SET-& ' [48] . - {Conttnued !
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79. The expression 'the gold, the silver and bronze' stands for

OTET-P-11/17 (1st)

(A) metals - (B) prizes
—~4€¥ medals (D) trophies
80. Which of the following happened last before the game started ?
(A) The spectators gathered round the field
(B)—The pistol exploded
(C) The atheletes stood ready
(D)/fhc signal was given

81. Collection and organisation of ideas, sequencing, cohesion and use of
vocabulary are subskills of

_ (A) listening (B) speaking
(C) reading 4BF \}\;riting
82. The word ‘break’ is pronounced as
(A) /breik/ (B) /braik/
(C) - brer:k/ (D) /bra:ixk/

83. Aesthetic sense is developed through
(A) detailed prose

m‘(;ctry (D) composition
84. Studying English as a second language will help us

(B) non-detailed prose

(AT to speak like the English

(B) to read Shakespeare and other poets

(C) to go round the world as tourists

(D)o open the window to the knowledge of the world
85. (Grammar should be taught through

(A) rules (B) structures

(Cyskills

SET-C =

hrases and sentences
(@) p ,

[49] (Turn over)
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86. Activity :
¢ meaningful words.

Find a single prefix for the given letters to mak

——-<cem vert fer

———dense vict ———cede
The activity in the above box can be practised for developing skills iy
(A) grammar /(%()cabulary

(C) word-order (D) use of compound words

87. |There was a monkey from Riger.
Who rode on a tiger.
The word underlined in the first line can be taught through

(A) gesture and action (B) synonyms
ABJ-guessing the meaning from
the context

(C) antonyms

88. The objective of is to listen and write.

(AV note-taking
(B) note-making
(C) chorus reading
(D) silent reading
89. Evaluation indicates learner’s learning and progress in
_AA) curricular subjects
(B) co-curricular subjects
(&~ both curricular and co-curricular subjects
(D) non-scholastic aspects

90. |Students read a small text about ‘How to Make Tea’. an d
, th
a flow-chart using the information of the text. i

This activity tests learners’ skill in _
fé” transfer of lgaming : (B) vocabulary

(C) grammar . . (D) usage

SET-C PR ) ,'
? | | | | (Continued
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MATHEMATICS & SCIENCE

9] a. b.c Q6QIC 9€F Qe 629a@ | 91. a, b, ¢ are three natural numbers

1.3 .1
a+bi—c

6@6E 7

(A) 1,23
@) 1,36
) 2,54

(D)-2,3,6

=] | 6069 a, b, cQ AIR

92 | +—ot

(A) 1,2,3

B) 1,3,6

(C) 2,.3,4

(D) 2,3,6

|
such that Y +

1
™ v =1 , what are

the values of a, b and c?

@ QaR1Qe AR | 92. What is the simplified value of

| =

| +

(A)

(B) 3

(€)

W w

W

(D)

(51}
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A
D3 px)=ax'+bhx+c¢ @ g(x) =ax° +

04

0s.

SET-C

X +¢), 6060 a # 0 6 a,# 0,
pix) G q(x)9 Qada r(x) 6uen,
'(X) @ gRIQ OR6RIN2Im 69Q 7

(A)  9RRIGT ORGS0
(B) @I0QIG1 OR6RIAZI%
(B QEQIG ARERIN2IM
(D) QU 2Aae

3n S ()ﬁ
HWCE ?

-
-~

" 6W6M, ‘'n'a AR

AM 4

(B) 3

(Cy 2

(D) |

QNG @él2Q1 665N @71 61’ QIR
OIg 10% 2@ QIF6Q QNRIRG @G
@l | @8 OF J6Q QAWIR 69% Bhg
Q' @EIQIF 019 10% 21N@ QInea
QENNQ OQ @R | 6569 Q6AE 92Q
& @191 Q19 690N 1), B1'] g
@IQIN ACAR HERG! 6960 AR ?

(A) 20 %

® 23%

03,

94.

98.

[52]

OTET-P-11/17 (1st)

p(x)=ax’+bx+c and g(x) =%

+ byx +¢,, where a 7 0 and
a, # 0, if the product of pf'X)and‘
q(x) is r(x), then what kind of
polynomial is r(x)”

(A) Polynomial of degree one
(B) Polynomial of degree four
(C) Polynomial of degree five
(D) Not possible to say

What is the value of ‘n” if 37 7 =

Q3-n9
(A) 4
(B) 3
(C) 2
(D) 1

Ramesh sold a piece of land 1o
Ramjan at a price 10% more than
what he paid for it while buying.
After a certain period, Ramjan
sold it to Ramesh at a price 10%
more than what he paid while
buying it from Ramesh. The price
paid by Ramesh for buying the
land for the second time is what
Yo rpore than what he paid for it
While buying for the first time ?
(A) 209

(B) 21 ¢
€) 224
(D) 23 ¢
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06, o0 SRININA 696 OF06a §66 5%a9 | 96. In which method of teaching
QlIeag 90 @adid ? Mathematics, one proceeds from
particular to general ?

(A) <6qae
" (A) Analysis

(B) Q°6484
(B) Synthesis

; €l
(O e (C) Inductive
(D) 26oleél (D) Deductive

97. gIefe 9669 6@6 08060 OeI8IRa | 97. Which method should be

FIFGR Q01 881 QUL 90Q ? followed to teach experimental
= ' geometric theorem at primary
I level ?
(B) 2Q6qlg (A) Inductive
- (B) Deductive
(C) Qegad
(C) Analysis
(D) Q°6qaé

(D) Synthesis

08. ‘QIAQ A°HIQ A°RI 6RSt’ 1 9L JF 6@ | 98. ‘Write the definition of real

YR Q6 Wa@ ? numbers.” What instructional
g objective is this question based on?
N *y e (A) Knowledge
il (B) Understanding
(C) geald : | ‘ (C) Application
(D) teqme e ) Al

SET.C : i e 2 { 53] : (Turn avori
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Which of the followifig shottid b
taken into consideration While

a test on Mathernatieq
)

09, caId aalml Aea 98ea g8 Uge | Y9
PR AIER C@EE WU6R Gorg 644 _
. preparing _
ey s in the Board examination

To make all items
A9 9E9YY lo make a

W”i&)ﬁ@@l{@@@ @oQl (A) Objective based

(B) 907 @09 (B) Simple
(C) Y6QAVNEL LI (C) Indirect presentation
(D) @0% @<l (D) Difficult
100. @99 gAYRIF gad @Gl g@iaa | 100. Which of the following filling up
JHI0Na 60T6R A69 9UG FaRIca gaps type questions has more
NS QUGG &IINg ? flexibility to find out the answer 7
(A)/§+5= A) 3+5= —
B) 3+-=7 B) 3+-=7
AC) -4-=9 C) —+-=9
D) -+3=5 - (D) -+3=5
101. :@ IR 68 QA IS @6M YISITR | [01. On dividing a number by 68 we
69 99° QIEleas 0 99 | 699 AIg get 269 as quotient and 0 as
67 QIA VIS QEM, AGNEHT 666 remainder, on dividing the same
f\/@ o | number by 67, what will be the
remainder ?
A er
(A) 1
(B) 2
v B) 2
(Cy'3 ‘ ¢
‘ (C) 3
D) 5 ‘
A | D) 5
SET-C L (54
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102, 69104 YO8 BIg Q@Y 9Q° i1
@eia 2g0e 7:8 | 90 81 THI6a
20% 6 g5t aavel 10% 9 9,
6069 BI9T°HY G 2191 IR QO
UGG 6Q6T 699 ?

(A) 8:9

(B)y 1718

ra
L]

AC) 21
/
(D) 22:27

103. 0% 3x’ + Bx + k 08eai2o0 6aifN
e, N0 QUERIN! €4, 6069 k@
IR 69€0 7

AT 3

(B) -3

(D)

-

SET-C

OTET-P-1V/17(1st)

102. The ratio of the number of boys

103.

Ty

and the number of girls in a
school is 7 : 8. If the percentages

of increase in the number of boys
and the number of girls are 20%
and 10% respectively, what will
be the new ratio of the number of
boys and the number of girls ?

(A) 8:9
(B) 17:18
(C) 21:22

(D) 22:27

If one of the zeroes of the
polynomial 3x* + 8x + k is the
reciprocal of the other, then what
is the value of k ?

(A) 3

(B) -3

|
(C) -3

(D)

o | =

(Turn over)
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L] '1
h ah” a’h

a _
[ (M . v"»(l‘ﬂ‘-" X y

cal 4+ b QRAM@REQUG AadIY

GWhy 7
(A) x=a,y=b
(B) x=-a,y=b

(C) x=a,y=-b
(D) x=-a,y=-b
105. 147.1369@ 4RIAQ QU@ 666 ?

S A 1213

(B) 12.23

(C) 12.17
(D) 12.27
106. 6965 LIJER @ &1 ?
(A) 68RQ QEREY QUEQ Y
(B) QQAeg QU6Q 99
(C) Q4% gNNRER6A Q0

~(D)y QRI9e 0969 g8

SET-C

104.

105.

106.

[56]

()T",TFP-”/]'J(IQU

on of the smul-

' - (J .,
l&lnC()ll.\' qulﬂ“(ln

What is the soluti

ﬂb__z..{--"y—b—a + b’ 7
X y
(A) x=ay=b

(B) x=-a,y=Db
(C) x=a,y=-b
(D) x=-a,y=-b

What is the positive square root
of 147.1369 ?

(A) 12.13
(B) 12.23
() 12.17

(D) 12.27

What is not there in a blue-print ?
(A) Weightage to objective of
teaching

(B)

(C)

Weightage to contents

Weightage to type of
questions

(D) Weightage to evaluation

(Continaed)
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107. 6966 9@ 798 6Q121I9g@@a OR |107. What is the correct sequential

892%?1 ? order of steps in a project ?
’ﬁ“/f“’(A)/@QG‘, 601901, RLIRNAG! G (A) Choosing, planning, executing
milae and evaluating
(B) 6QIeQ!, RIGIRIQG], GRIILR G (B) Planning, executing, evaluating
oge and choosing
(C) QQIRQQ!, ALK, 0K G (C) Executing, evaluating,
6LIeR! choosing and planning
(D) qauee, @26, 64Ieql G (D) Evaluating, choosing, planning
@RI QS and executing

108. 624 QIdca 48 QR6e Q@FAE@e |108. Which method of teaching

ce6s 7 Mathematics is activity-based ?
(A) 26 (A) Inductive
(B) 26w (B) Deductive
(O g (C) Project
(D) QEHIEINR (D) Analytic
109. 6910 99 9gRS U4 Q6% ? 109. Which is not an objective type of
question ?
(A) 2990 QLI

(A) Matching type

QAR e
(B) 2\ (B) Completion type

(C) ogles | (C) Multiple choice

/(DY‘ Qe Qeeqes iR (D) Restricted response type

SET-C 1507 (Turn over)



110. 966 81g @i%a 086 49 AR A6 ?
(A) <210 geael AI
(B) «21q 9°8g6l QI
(C) <2IQ 4861 aIQ

@%}@6@1@ ang IR

111. 62@ YO Q°auIg 6860 q F6aIS

@6 QEATTRA AR 19 629 ?
P

A1

(B) 2
(C) 3
(D) 5

112. GRFQ QIEAINEA AULAING 092
AL 6419 Q2N 6 IHAA T QUQ,
GYFT 46 GYTER UG 94 | 6669
6P GYE ANREQ FFE FIQ 606
QS Aoy ?

(A) % GYF 92 99
‘(/B)/ % 59 A2 A8

(C) 6916 691G~ AATRIE GYe

(D) 6915~ 695N AARIG GYS

SET-C

110. Why shoul

111.

112.

[58]

ULI L= —aa - ~ =
d a child leary
Mathematics ?

(A) For its uniqueness

(B) For its preciseness

(C) For its correctness

(D) For all of the above

What least number should be

subtracted from 6860, so that 19
will be the cube root of the result

of the subtraction ?
(A) 1
(B) 2
(C) 3
(D) 5

The line segments joining the mid-
points of the sides of a triangle
form four triangles. Which of the
following is true for each of
them ?

(A) Congruent to the original

triangle

(B) Similar to the original triangle

(C) Isa isosceles triangle

(D) Isa equilateral triangle

(C onn'nm'.d )
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114.

- -

SET-C

6aMI | 7 62Q9 8F QA6 6Q6S MG
QA& Q@R ?

(A) 5.6 x10°

(B) 5.6 x10°

(O 5.6%x10°

(D)-5.6 x10°

oa 996@, AB = BD = AD, BC=
CD 9@* mZ ABC=100° 626@, m
ZBCD 6@60 ?

(B) 60° B | D
4S5 100°
C

D) 140°

[59]

VI A=K “RRI BT\ =~y

113, Rainfall at a place on a day was

8 cm. What was the volume of

rain water in litre fallen on 7 hectares
of land ?

(A) 5.6 x10°*

(B) 5.6 x10°

. (C) 5.6x10°

(D) 5.6 %10’

. Inthe given figure, AB=BD=AD,
" BC =CD and m £ ABC =100°.

How much is mZ BCD ?

(A) 80° A
®) 60° o | 5
(C) 100°
C
(D) 140°

(Turn over)
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I15. 128. @19 @ 1.5 feq 60 @a1g | 115.

25 6Q.91. 6RgY0EY 6966 Y8 QTIgE
QM @Rl AR 7 |

(A) 192
(B) 22¢
(C) 268

D) 288

116. @66 6QIRIRT 6915 IgR1 asfia @el | 116.

QA 019 15% 2@ Q16 Q8PS QU6
EMGCEM | F1Ig OF RQAQ 696X, AYE
Qe @A6Q 10% QLIS 6Q6R | 6669
64 QEMIS YQRR CITQ ¢l QIF AU
6@60 % AN AINEM ?

(A) 5%

(B)/4.5%

(C) 4%

/(6) 3.5%

SET-C [60]

y square shaped hand-

man
How oth

ief piece of cloth of len

kerch
¢ acloth

25¢cm can be available from

7
of length 12m and breadth 1.5m’

(A) 192
(B) 228
(C) 268
(D) 288

A shopkeeper marked the price on
an electric fan 15 % more than
what he paid for it while buying.
But while se'lling, he allowed a
discount of 10% on the price
marked on the fan. What profit
percent on his cost he got.by selling
the fan ?

(A) 5%
(B) 45 %
C) 4%

D) 359

(Continued)
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117, p o q 6060696R ‘1" 89 49" poc 1
66066 q 9@ | K@ p=1006
q = 8 62RI6Q6R 1 = 4 94, 606
p=156q=9 62916R6R 19 AR

6@ET 6% 7
(A) 1
(B) 2

ey 3

(D) 6

118, 12 96 6mi@ Q6oya @7 6 A8l @19

@8 6coIgNa @Idig 16 GR6a 64d
@08 | 99 8 96 cRIR, 600@ 8 Qe
cagid @Iy @9G, 606Q 6QNIeR
QTG 666 TRER 688 VR ?

A) 18
(B) 16
(©) 15

(D) 12 b

OTET-P-11/17(1st)

I17. p oc qwhen ‘r’ remains unchanged

118.

[61]

and p « —}- when q remains
unchanged. If r =4 when p = 10
and q = 8, what is the value of r

whenp=15and q=9"
(A) 1

(B)

9

(C) 3

(D) 6

12 workers, working 6 hours a
day, can complete a work in 16
days. In how many days can 8
workers complete the same work

if they work for 8 hours a day ?

(A) 18

(B) 16

() 13

D) 12

(Turn over)
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119. x? - L = 14 c2em, x? + *12—61
X X

e 6@60 ?

7 10V2
(B) - 102
© 2410
D) -2410

120. @@ 5869 291 APQRA PR QIg6@
S 9@ @9 699@@ PS = PQ,
m ZPQR - m ZPRQ = 30°
626m, mZ SQR 6@6% ?

P

%)
A) 22+°
) 225

(B) 20°

1o
©) 18,

(

SET-C

/D) 15°

119.

120.

[62]

OTET-P-11/17 (1st)

4. what is the value

o
F i, e 28
If x <5
of x2+-']" ?
xZ
(A) 1042
B) - 1042
(C) 2410
(D) -2./10

In the figure given S is a point
in on the side PR of APQR such
that PS = PQ. If m £ZPQR
—m ZPRQ = 30°, how much is
m ZSQR ?

P

Q

lo
(A) 225

(B) 20°

C &
(C) 1&'2

(D) 15°

(Continued)



, \
Wl J/
' OTET-P-11/17(1st)
121, Q@10 0F-ogdre oo | g awg |2
RGP’ QUIAIN | 6069 99 AQBE
UIsl IBIVIFQ AEREY Q'€ ?

I. Three-fourth of carth is walter.
Hence, it is called water planet.
Then, what is the objective of

teaching water conservation ?
(A) 99 ¥ g caioq Qi@

(A) Water 1s carrier of many
(B) 4% 01d 90 geaiee diseases

CYONa 90 arfie (B)  Water is required for industry

(C) Fresh water 1s limited

)J
(D) Zicaecgae 6 0d3aie aid oo |
2N (D) Water is necessary for

photosynthesis and digestion

122. 604C Q019 Q"921000 Qe @4 7 | 122, Which one s the indicator of

. science musceum ?

(A) CRIT QG

(A) Science kit
51" @6 ‘ .

(B) omeeeo (B) Experimental equipment

(Cr 16Q1¢ 6 QIS SR (C) Samples of dead insects and

animals

(D) = &< ARIRSIS

(D) Flowering twig of Chinarose

123. Q18 : QIQQ : : QARG : D |53 Eich - Gills - Crocodile -
@6 Q@Iaa 94 ?

Which type of question is this ?

e e
(A) QU QEIH] (A) Muluple choice

(B) Qfe A4Ine B) Analogy
(C) QaIae - (C) Completion type
(D)6 (D) Matching

SET-C e [63] (Turn over)
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124.

124, 60006Q QG IGA4 626!IAN ?
(A) 91 QEQ
(B) S6RINQ

(C) Qg
(P Q8 @89

125. Q19 2911 499 649 QQIQ
@6 ?

/(A’)/ gaiQiq, aenasis) @ 6@
(B) Q1998% 2¢) 6 4a
(C) TR, G @

(D) 21917, @R 6 63

126. 629 2GR Q9 SR AT
Q690R 24 ?

(A) Q1608
(B) @994

)C)/ 69I9]

(D) eaee

SET-C

129,

126.

[64]

UlLr—*

9
ie ViVl .een !
In which 1S V1v1pary S

(A) Xcrophyw
(B) Hydrophyt
(C) Epiphyte

(D) Halophyte
What is the end product of

. e 0
anaerobic respiration :

(A) Alcohol, carbon dioxide and

energy
(B) Pyruvic acid and energy
(C) Carbon dioxide and water

(D) Carbon dioxide, water and

encrgy

Through which organ of the plant

does the maximum transpiration
occur ?

(A) Lenticel
(B) Cuticle
(C) Stoma

(D) Bark

(Continued)
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127, 0@ QM@0 sed agd = 7 127. Which is a wrong statement
relating to soil ?
(A)-Tlowe Geq 0Gces arg ‘ |
//Vj "eq (A) Soil has its own environment
(B) _zae uige geg 29 QReIQ (B) Soil with too much minerals
 @oe QUITI is called humus

R (C) Biotic component is a part

(©) 6%e anog OQIQ 9Q 2rg of soil

(D) @099 deig eea Qf (D) Soil is formed from degraded

rocks

128. 606 @E960 680 TQue1 Q@ 7 | 128, In which forest is biodiversity the
maximum ?

(A) QN

(A) Coniferous

(B) @QIgu

’ . (B) Thorn and bushy

(C) Qgenien (C') Deciduous

(D)-0aweq (D) Evergreen

129. QOQ 6@y 910 GYN6E 6960 A | 129. Which one does help the plant

@eQ ? cells to remain turgid ?
(A) QUREVEWIN (A) Ribosomes
(B) Qe (B) Vacuoles
(C) IREsIag! (C) Mitochondria
(D) eqEYI (D) Chloroplast
[65] (Turn over)
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L33, QOGia 9nnee sacnige QUIRG 60

[35.

R AGE KeQ 7
(A) 6Q@
(B) 0w
(C) Qe

(D)AQieia

L SHING AYEI 2QaARIe edQl aid

6RNCY VIR PTG 21IFEYQ 7
(A) agaie

(B) aeanal

(Mé%@é‘l

(D) sage

QINIQA| AMNEQ AFIQIR 6Q6R TVR
QX0 KLEM 69 YRR LEAUA FIQE!
QY 6L, 9D 9 QIYIIDC 6QIS |
9@l 60Q 6ORITR 6QAIN AR
ayede ?

(A) QgaoIea §eIq feia

,4%@161@ @'gAa

SET-C

(C) A880I6a 9eIg A

(D) QAIQ 6 NAE

133.

135,

[67]

OTET-P-11/17(1st)

Which is the gland that regulate
the effects of hormones during
puberty ?

(A) Sweat
(B) Oil
(C)

Saliva

(D) Pituitary

. Which is to be used to investigate

truth in the science ?
(A) Guess

(B) Tradition

(C) Analysis

(D) Hearsay

While teaching on health and
hygiene the teacher explained that
pig is not the cause of swine flu.
[tis an airborne disease. On which
step of science is it based ?

(A) Identification of virus in pigs
(B) Transmission of virus

(C) Identification of virus in
humans

(D) Similar symptoms of disease

"
(Turn over)
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136. 2R@aI65: 6om :: ARG A6LEIgLaa | |36,
QAR :
(A) g
(B) |60a4K
A€) .~
(D) @maIgie
137. QIRVYLP6a RIR FVQG-S869 | 137,
EIA@ AIF 98 7168 6@66 S
Q94 7
(A) d8@-d81eh 2916
“B );ms’aiqgiq ane F8e
(C) 2842 096
(D) @ade daQe
138. cug AILIKY6Q DIE6R | 138,
Ong INUIER 8 ARG QDR |
N2l 609 gRIQ 9§ Q6% ?
(Ay Qs
(B) qGhee
(C) Qﬂl@fﬁl@ﬁ?
Dy~ ;amqe
SET-C [68]

OTET-P-1/17 (158)

Cone of experience Dale
Taxonomy of instructional

objectives

(A) Dewcy
(B) Stevension
(C) Bloom

(D) Kilpatrik

Which one is most important (o
promote the quality in teaching.

learning of science in schools
(A) Teacher-Taught Ratio

(B) Trained Resource Teacher
(C) Required Apparatus

(D) Regular Teaching

Fish moves up and down in
water by

What type of question is not it ?
(A) Objective type

(B) Recall type

(C) Completion type

(D) Recognition type

(Continued)




139. Q6QID F1g 6w mAéls 60I1G1ERe
qACEE 6E)ENgw 7
(A 6QISIADF MI66RS
(B) 60I61Q0¢] 64/019%
(€Y 6QIg1dan FINEES
(D) 6UIGIAAT| AMETS

140. 6019 699 dI FRY FUG ANETE,
Qeél A2 AIJIGE 2RRIER AIANRR
QoQl K69 FIE ?

(A) Mg

(B) Fe

ng)//Ag

|

(D) Pb

lw IRAaas FINESE
(i) @INAG TA6TG

(i) 6TIR VIEREHG!

(iv) ZIEAIRAr AMETS!

QU6QI 6AITRMIRE F1iQ 696 RO
ge0Ye ZEea AR QW@ TAlE
QEg ?

(A) (1), (1)
(B (i), (i)
(©r (iii), (iv)
(D) (iv), (@)

SET-C

(691

Y Techofworld.in

OTET-P-11/17(1st)

139, Which one of the following salts
belongs to the class of potassium
acetate 7

(A) Potassium carbonate
(B) Potassium chloride
(C) Potassium nitrate
(D) Potassium sulphate

140. Which of the following metals

does not react with aqueous
copper sulphate solution under
normal conditions ?

Mg
Fe

Ag
Pb

(A)
(B)
(C)
(D)
141. (i)
(ii)
(111)
(iv)

Aluminium nitrate
Calcium phosphate
Ferric carbonate
Ammonium sulphate

Out of the above compounds
which two are with same number
of atoms in each of their molecule?

(A) (1), (i1)
(B) (1), (111)
(C) (i), (iv)
(D) (v), (i)

(Turn over



142. 606 Q6neeie araen@ @G89 | 142, which elect

QeIag ?

(A) 17p, 17¢, 18n
(p)/?c, 3p, 4n
(C) 19e, 20n, 17p

(D) 9p, 10n, 10e

[43. u1Q PRIAe 086 Q%6 cod gBaId | 143.

AMD Q6L 7
(z}«)/ 612] 66SAR

V’@ema

(C) MMNEeRaR

(D) gAeIa QaeIeee

OTET-P-11/17 (k5%

ronic configuration

-
n’
indicates a catio

(A) 17p, 17e, 18n
(B) 2e, 3p, 4n
(C) 19e,20n, 17p
(D) 9p, 10n, 10e

Which of the following processes

is not associated with metallurgy ?
(A) Froth floatation
(B) Catenation

(C) Calcination

(D) Magnetic separation

(C Ontinyed )
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144. 9@ ¢oq Qeuq @19id qor

145.

SET-

UAQEEA6R Q16 Wal 2.5 FIR660 G
Yo' TOB @01, 6661 19 65611 1 6o
Wkl 606G 65 19" 15 AARICE 6550
6WEL QIO PILGE @oQ 7

95 4 AaIMIe GO0 9 gaie oo
WA Q1@ Aag 20 @i6a
EREOIS' ANNNAEIG IR 2GS ?
(A) 6D 661N
(B) €@9a ¢ab
((6Q6@EA Gae

(D) ang

66 ORIQ ANYId QA8 AW
QIR gge @aUdal | 99 Q16
606 S IAQ o1 Q2Ig6s [ G
d 94, 509 6@9 1 6 d 918l 9196
goeald Aeae 69 ?

(A) 1.,d

(B) 2/.,d

((;;é , 2d
(D), 21y7 -

i

144

145.

[71]

OTET-P-11/17(1st)

A train starting from rest and
moving with a uniform acceleration
attains a speed of 108 km per hour
in 2.5 minutes. What will be the
acceleration of the train and how
much distance would it travel in
this time ?

To solve this question, out of the
equations of this type of motion,
minimum how many of them are
to be used ?

(A) Onlyone
(B) Only two
(C) Anytwo
(D) All

A conducting wire of uniform
diameter was made from a piece
of copper. If [ and d are taken as
the symbols of length and
diameter of the wire respectively
then for which [ and 4 given
below the resistance of the wire
would be minimum ?

(A) |,d
(B) 21.,d

© %

2,2d

d
(D) 21.5

(Turn over)



146, 50 cm Q@0 @6g 49° 25N B0
o @O ARARG 669N RDER Qem
QIS 66'GH AVER ER6E V1K1 Y69

@ol ?

(/{)# 100 Pa
(B) 250 Pa
(C) 500 pa

(D) 1000 Pa

147. 20 cm 60199 9001 998 IR Q9R
Qdéa 98969 10 cm 9aoIea ¥
ALNR01a goeR 9106 4 | goenda
QER 6Q6Q 7

(A)

Bl

B 5
(C) 2

(D) 4

SET-C

OTET-P-11/17 (15)

s sure Id be

146. How much pressure wo‘u -
exerted by a solid cube of height
50 cm and weight 25N when it 1S

placed on a table ?
(A) 100 Pa
(B) 250 Pa

(C) 500 pa

(D) 1000 Pa

147. The image of a candle is formed
at a distance of 10 cm behind a
convex mirror of focal length
20 cm. What is the magnification

of the image ?

A 5

(B) —12-

€) 2

D) 4

[72]



OTET-P-1V17(1st)

148, 609 eovite? aey 3¢ :
VER S
TONIS OIQ R | 148, Which celestial body belongs to

cHIRS ? N
a different class from the other
(A) smeq three ?
A "
o (B) Demos
(O)-QeQ ‘
(C) Ceres
(D) oReR
(D) Titan
149, SR8 SR1A QRIS SRIRIR 68969 | 149, In which method of teaching
PR OF06R ‘609!’ 8 ‘QIdY’ 9d science at school level emphasis

. - is given on ‘seeing’ and “doing” ?
ROEQ QYT QAIQI_AN ? ; € £

(A) Demonstration

(A) QQ8e

(B) aveese (B) Observation
tC)/éﬁgﬂa (C) Excursion

(DY Oise (D) Experimentation

150. 6990 OBI® QQINEAQ 9 6QIQAIR | 150. Which one is not a step in
Qex ? science experimentation ?

(A) Formulation of hypothesis

(A) 2QSER! GOR

(B) ©24Q6qad (B) Analysis of data

(C) QeeRad (& ('Eencmhsauun

g5 e

SET-C -__

(D) Active participation

[ 73] (Turn over)
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91.

92.

93.

SET-C

. (D) 2494152 ﬁﬁ%ﬁ

[ Qifu@e a0

OTET-P-11/17 (1s1)

SOCIAL STUD

IES '

SFQ GG QUEQ YU YVQ 6W6E
FeRIFFQ Qeel adie geaIdua
Q96 ?
(A) 8
(B) 11
(C) 12
(D) 16
QIYILRA Q6 ARAER B6FIR IR
Q@G ?
(A) g6aI3aQ
(B) «I60139a
(C) GQSQ]I'@EZQ
(D) 26189

QARG goId QuUIR F1:I6Q & AR
RUIR 6REEG ?

(A) 6 a@|'13 aae!
(B) 12 @4l 26 §a9

(C) 24 a4l

91,

Q2.

93.

[74l1

Up to what extent does the
troposphere extend upwards 1n
kilomelers over the equatorial zone
from the surface of the carth ?
(A) 8

(B) 11

(C) 12
(D) 16

In which sphere of the atmosphere
is there an ozone layer ?

(A) Troposphere
(B) Stratosphere
(C) Mesosphere
(D) Thermosphere

What is the time interval between
two direct tides ?

(A) 6 hours 13 minutes
(B) 12 hours 26 minutes
(C) 24 hours

(D) 24 hours 52 minutes

(Continued)



94. Q866 6 eiow
PANYS e Q8 99 ?

05.

96.

(A)
(B)
(C)

(D)

HMYQ AQQIER TeQIS 60E qaE
oR ?

(A)

(B)

(C)

(D)

are 1 10,000,000 626m LA 96.
2QQEIFR AR 6X60 ?

(A)
(B)

(C)

D) 1 ca.d. = 10,000 @.4.

SET-C

69I0Q ARe ae6a

QRQIe
QA G5
QI

20RLR Q96

QEERR, QRACRT, ALAIRIQ,
FJesaIg

QRDERIF1, QEIERF, FIPAIRIAY,
Sty

QEEAIF1, QUAEWIFT, FJosWla,
ArILIA

QEcAISN, APQAIVIGI, QEACAIS,
QoeaIF

| 6a.@. = 10Q.4.

| 6a.d. = 1000@..

1751

94,

93.

OTET-P-11/17 (1st)

Which of the following is formed
due to the mixing of warm and
cold currents ?

(A) Rain fall
(B) Radiation fog
(C) Cyclone
(D) Advection fog

Which of the following orders of
food chain is correct ?

(A) Herbivorous, Ominivorous,

Carnivorous, Detrivorous

(B) Ominivorous, Herbivorous,

Carnivorous, Detrivorous

(€)

Herbivorous, Ominivorous,
Detrivorous, Carnivorous

(D) Herbivorous, Carnivorous,

Ominivorous, Detrivorous

If the R.Fis 1: 10, 000, 000 then
what will be its statement scale ?

(A) 1cm=10km

(B) 1 cm=100km
(€) 1 cm=1000km
(D) 1cm = 10,000 km

(Turn over)
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97. 699 gNIQ 949 990 @99 §oR 6 A

98.

99.

SET-C

Q60N @ AN ACAVIQE A¥w 7
(A) Qghs

(B) @eRdi@@e

(C) 26 Y9 eF)Pe

(D) a°39 Q@R

QREAIR AVIQIF I6E Q8Q 609G 2RY
Q6RIT 01 @a ?

(A) d1adiee
(B) 6841 gade
(C) 688 90gae
(D) QQgae

Q671D 6066 YETIR ITIAR AR FIF0Q
6QUR0IQ 2R QUGN ?

(A) Q1R 2196
(B) amrrd 6 Qi@

(C) 9-aMIeqT

(D) @9

97.

98.

99’

[76]

OTET-P-11/17(1st)
Which of the following type of
question is difficult and time
consuming to prepare but relatively
casy for evaluation ?
(A) Objective
(B) Objective based
(C) Very short answer type
(D) Short answer type
Which one is different from the
other three in geography teaching
point of view ?
(A) Study tour
(B) Class room demonstration
(C) Field trip

(D) Excursion

In which of the following is the
map more useful than the globe
in teaching Geography ?

(A) Shape of the carth

(B) Latitude & Longitude

(C) Land-scapes

(D) Direction

(Continued)




100, YeUIR SRR cad gad QIS14G8
AN 6a0g 2

(A) Qgq
(B) geg
(C) Mgy

(D) 2isqieq

101. sf&i@? "C gdasa aainat gewia | 101
YrIea 2990 2

(A) ao@
(B) @0 ega
(C) e

(D) 6agIael

102. 9eaIs ISeFIRQ Aaad Hegie 6aa | 102.

RP1QY QIR QHEE 62T ?
(A) ged6asi 8 6a6ad!
(B) 65041 G QIgs!T

(C) Qqligen 3 AIRIPGT

(D) o@gmil 8 < el

§ e T
SET-C - s

100,

OTET-P-11/17 (1st)
Which method of teaching
gcography is primarily pupil
centred ?
(A) Description
(B) Project

(C) Illustration

(D) Discussion

. Which district is entirely situated
- in the Mahanadi delta ?

(A) Cuttack

(B) Jagatsinghpur
(C) Puri

(D) Kendrapara

By which of the following two
rivers is the northern part of the
Eastern Ghats bifurcated ?

(A) The Subarnarekha and The
Baitarani

(B) The Baitarani and The
Brahmani

(C) The Brahmani and The
Mahanadi

- (D) ‘The Rushikulya and The
Vanshadhara *

(Turn over)



OTET-P-11/17(1st)

103. What will be the temperaturc ut‘
Pattangi situated at a height of
1500 meters in Koraput when the
temperature at Puri sea beach 1s
20 degree celcius ?

103. go1 canigfica claagl 20 &g
6URKAY 6RIR2IQ 626 640IQ 1500
FI9Q LR 6RIAUYSTA ARG 0169
GIAAIGI 6066 BY1 6dNTVq 629 ?

(A7 o (A) 9

(B) 104 B) 10.4

(©) 11.6 (C) 11.6

(D) 124 (D) 124

104. 8G4I6Q P68 629 gLl @@ | 104. Which of the following types of

JdOnNGe 99 ? climate is noticed in Odisha?

(A) Gog1 (A) Equatorial
(B) @Ied16018 (B) Temperate
(C) Q219 ¢F (C) Tropical dry

(D) Q919 @8 6 &g (D) Tropical warm and moist

105. 918 9q 29AI60 76918 624 aaad | 105. Which of the following crops is
804 G68IT 0Ig @ 7 different from the other three on
the basis of cropping season ?

(A) 68
(A) Mustard
B) e (B) Castor
(©) aig (C) Sesame
(D) @ S (D) Black gram
SET-C . R Ipa | (78]

(Continueq )



106 . OTET-P-11/17 (1st)
- 699 HEe 991d agierea 6841 106 I S
DINGER gaN AR ANIa GErE : - Inthe production of which mineral
‘ does Odisha occupy the first
position in India ?

(A) 69QIRe
(A) Chromite
(B) qeoaa
(B) Iron ore
(C) Queng
o (C) Manganese
(D) el | (D) Copper

107. 629 QIGYQD F1U6Q QBI-691I9a1 | 107. Between which two states is the
FRAQQ 6QHIEIRG ? Krishna-Godavari water dispute
noticed ?

(A) 28-91951g
(A) Andhra — Tamil Nadu

(B) QIFRRIg-€ioe
(B) Tamil Nadu — Karnatak
(C) BI3-G4ee (C) Andhra— Karnatak

(D) «dIe@-NIQIG (D) Karnatak — Maharashtra

.l()8 SRS AREAIRIS F67ID 6ea Q8% 108. Which of the following trees of
' the Himalayan mountains is

QEAIR @U9ge 7 endangered ?
(A) Q9 | (A) Chir
(B) Qlé (B) Barch
©) 6% (C) Oak
e | (D) \;ew
[791] (Turn over)
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109. §69I8 69Q 2QIG6x ANVEQT!
SEAINVIRS QID ?

(A) O
(B) 30
(C) 60

(D) 90°

110. QI0Q 2RULAER FEYIS QR0 2P
Q6L ?

(A) QI90Q AUIISA
(B) Q180g Q°QR&
(C) QIReg 0R

(D) QIe%g 2Q91Re

111. QIRYQ 6QIG 0I6Q FETIB 699 QG
QLR ?

(A) 6TEQANNGTIAR

(B) 6a6queqie

(C) 6T6ARQY

(D) egqe

YRR e

OTET-P-11/17(1st)

109 At which of the following |atitudes
| here be nO parallel of

can
latitude ?
(A) O
(B) 30°
(C) 60°
(D) 90°

Which of the following is not
included in map study ?

110.

(A) Learning map language
(B) Map preservation

(C) Map reading

(D) Map interprctal?on

I11. Which of the following factories

is established at Jajpur Road ?
(A) Ferro—manganese

(B) Ferro-chrome

(C) Ferro-silicon

(D) SPOHg_e-iron

[80]
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112 . — OTET-P-11/17 (1st)
- Ui@@‘{ﬁlﬂ 2[5! =

@a6aIg] - 401 Qeay 2. For which of the following is the
mountainous land most useful ?

(A) wqq g (A) Source of water

(B) @iy (B) Agriculture

(C) oeead (C) Settlement

(D) #ée ang

(D) Mineral resource

113. 96919 6a4 geiq 2iqay 2199 @0 | 113

= 5 & . Which of the following forests
% @194 @Gl ? ( e IR

does act as a shelter belt ?

( .
A) D919 99 ageaion (A) Tropical dry deciduous

(B) &eiigen (B) Monsoon
(C) gaiel (C) Tidal
(D) @919 21g 99266 (D) Tropical wet evergreen

114. Q*0@ Q8Q 6@@ 69155 @m &6< ? | 114. Which pair is incorrect on the
basis of their relationship ?

e - @l
(A) weasy =3 (A) Tikarpada - Crocodile
(B) @ca@hel - O81 2WAIR8N (B) Bhitarakanika— Bird sanctuary
(C) 9R@! - Q161 (C) Chandaka - Elephant

" (D) Similipala - Tiger

D) 60019 - Qe
[ 81] (Turn over)
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15, Q6918 6@a0 &g QQIeea 9@ g8y | 115.

el ?
(A) 2lxdiq
(B) 616l
(C) QL

(D) 2@910Qig

[16. QPIm A999 IR100! 604 2ra6a @ ? | 116.

(A) ARRITEQ
(B) Qidey zmeq Goea
(C) Q9@ 26 eraea

(D) Qgolca AR aaIQ

117. 2619 6065 9@ 3610 6g41a 9figa | 117.

2l6Q ?
(A) QAL ALIAITQ
(B) 2luea

(C) Qgreee

(D) @egmel

SET-C i | [82]

S AR =

Which of the following is the main

gt gt ™)
arca for mica production :

(A) Ajmer

(B) Kodarma
(C) Gaya

(D) Hazaribagh

Where is the depth of the Sial

less ?

(A) On land

(B) Lower part of mountains
(C) Ocean bottom

(D) Same depth everywhere

Which of the following does

belong (o the second order land
form ?

(A) Indian Ocean
(B) The Aravallig
(C) The Sunderban

(D)  Australia

(Continued)



8. 96919 caga QYRR G4E pigg ¢
(A) Sg96as oig XQG QIS |
(B) Qgecag 01 KRS
(C) @ecqid oig ARG

(D) @@oqid o g691Q 9@

119. 6om - AL :
69l ?

(A) QIR
(B) <aueer
(C) exig1

(D) 6QIgIIg

120. F6CI8 696 QIUeR9 TROIE AIR
aA6QIQe ?

(A) Q110
(B) e

(.c) QIGENERI8 |
(D) Q06 a

| e A

OTET-P-11/17 (1st)
FI8. Which of the following is the
eXtension of the tropical belt 2

(A) From equator to tropic of
cancer

(B) From equator to tropic of
capricorn

(C) From tropic of cancer to
tropic of capricorn

(D) From tropic of cancer to
Arctic circle

I19. The Tel : The mahanadi : :
: The Godavari

(A) The Indravati
(B) The Saravati
(C) The Koshi
(D) The Ghodahad
[20. Which of the temperature belt
i1s most favourable for fruit
cultivation ?
(A) Equatorial
(B) Tropical
(C) Temperate

(D) Subpolar

(83] ' (Turn over)
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[21. e @8 GNEI GP65U60 699 696 RIGTR
JdQOG QURMI ?

(A) agel
(B) g
(C) 6omaan
_(D) Qq6eq

122. QI9Ione 969 @'6 goiaml ?

(A) 2IPEQ FEVIAR ACLOTIR
Qe |

(B) aaial er1ai9 g ges!

(C) ARMIE @eeie TQIg]
MDA FQRER TRl

(D) Qgeries Q@

[23. '0@ 99° 62’ Q16 608 awdic
Jeia @AUAIRAR ?

(A) QIR IR
(B) g1qa QrIee
(C) eFlIe1 ¥egIead

(D) saIMEQ RIFG!

OTET-P-1 I/17( Ist)

[21. Which country did lose nationg]
o entity at Vienna Congress of

id
18157

(A) Austria
(B) Prussia
(C) Belgium
(D) Sweden

What did the Fall of Bastile
indicate ?

LR

Rise of Democratic
Consciousness in France

(A)

Weakness in security of
French prison

(B)

(C) Victory of common people

against French Army

(D) Release of Revolutionaries

123. Which purpose was the policy of

blood and Iron applied to ?
(A) Unification of [taly

(B) Independence of Greece
(C) Unification of Germany

(D) Independence of Poland

[84 ]




124. @

._.
[
n

VeQde
bgf@l@&g\u ?

(A)
(B)

ALQIQ
s A
(C) e

(D) e1aciceo

- 699 6Q9Q @80 fIe190IQI0 QLA
SALTA R RIQE cRIRaR ?

(A) QA
(B) eceaicqiaide
(C) eqaien

(D) @aa

126. 9@ 96Q84I08 AQ@ew! 990 K89

QIR QLGN QIR Q'€ ?

(A) A6RINAR, RTVRAE, Al
SRIQE, 6QIRR1, AMAR, 2
2QARNR

OTET-P-11/17 (1st)

12 at d; :
4. What did provide inspiration to

125.

126.

(B) 6QI99), AIf ARIQE, AERIFR,
QAOQEAQE, AMQR, AYW
2QANNR

(C) Q6RIRAR, 6, AT, 2R
geafle, e RIS,
QocEead

(D) A6RINEAN, aie @|IQd,

. adeeqad, 6aIed, Qaa,
i@ QAN

(B)

Bolsheyik Revolution ?

(A) Marxism
(B) Nihilism
(C) Liberalism
(D) Nationalism

Arrogant nationalism of which
country did cause the Second
World War ?

(A) Poland

(B) Czechoslovakia
(C) Germany

(D) England

What is the sequence of preparing

a project ?

(A) Selection, Recording, Evalua-
tion, Planning, Execution,
Follow-up

Planning, Evaluation, Selec-
tion, Recording, Execution,
Follow-up

Selection, Planning, Execu-
tion, Follow-up, Evaluation,
Recording

(€)

Selection, Evaluation, Recor-
ding, Planning, Execution,
Follow-up

D)

(Turn over)
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127. 6060 60166 GRIHQ RAIVIS Q6% 7 | |
(A) 9o
(B) aew 6@
(C) 098 €9

(D) @801 69

OTET-P-11/17(1st)

27. Which one is not an element of
intellectual development ?

(A) Creativity
(B) Tolerance
(C') Thinking

(D) Imagination

"2 Bt _ : , . i s
[28. 48121710 S 688Q 6018 Q@] 128, By which method of evaluation is

699 gQIa ARAYAR QIR HQae@
@AUAIQENT ?

(A) ehaiee
(B) eyeuie
(C) Qriggee
(D) faepa

129. 60QG 60918 69190606 4809 9@
QATAE

(A) Bgiew
(B) Qdveene
(O) ogeee

(D) 9NN

the weakness of a student

identified ?

(A) Diagnostic
(B) Situation
(C) Conclusive
(D) Continuous

129°Which one is an example of
motor-skill based learning ?

(A) Pic(urcdrawing
(B) Survey
(C) Imitation

-

(D) Memori sation



130, Qete daiehaee ARAGG Qame|
WO W9 QI SR6 6R66aIE agee
UG 6969
(A) QUSRTHRe @IAYGe1
(B) qQemigag

(C) 2uenen @ age)

(D) aioygae

[3]. U6AINE 2QAIAR 3361R 604 Qa6
2UQEE ?

(A) @6
(B) a@eda
(C) QudQ
(D) Saa

132. QIQQIGT Q6 AIER @4 KORIe AL
a1 aRelem ?

(A) QL6 6adal
(B) 6QIGIareLs

(D) /46089

BETIC e f

[87]

OTET-P-11/17 (1st)
130. Teacher will emphasise on which
one to remove the weakness in
learning of primary students ?
(A) Activity based programme
(B) Memorisation
(C) Discussion and description

(D) Text books

131. Where are Asoka’s edicts
located ?

(A) Jaugarh
(B) Lalitgiri
(C) Puspagiri
(D) Khandagiri

132. Who did build the Jagannath
Temple inside Barbati Fort ?

(A) Yayati Keshari
(B) Chodagangadev
(C) Ananga Bhimdev III

(D) Nripa Keshari

(Turn over)



133. '02068'q @4 y°a Kucaaem ?
(A) anew
(B) enmeer ¢ae
(C) T6QUR €IF QoIme

(D) Q92 65191

134. 696 0gaRI6a &¢ AL WER G0
gl ?

(A) 6fiam
(B) Qege
(C) gede
(D) qaie

135. Ganeadie aamia @150 aIee1o Jag
QUEFIR YOFI 626m 7

(A) VIAGER ALAAIR FICIAGIDIOG
Qg 6QIg

(B) @609 @0IaQQnes gale
6QIg

(C) oreer Qe aaqm 9081 Giig

(D) QI%‘Q QRGN Agee gl

OTET-P-11/17(1st)

p caléne )
133, Who did destroy the ‘¢ hahalgans

134.

135

emuc, A (88]

(A) Balban

(B) Jalal-ud-din Khalj
(C) Firuz Shah Tughlaq
(D) Sikandar Lodi

In which painting religion was
closely associated ?

(A) Mogul
(B) Rajput
(C) Persian

(D) Turani

Why did the colonial government

give trade protection to Indian

industries ?

(A) Underthe pressure of rising
nationalism in India

(B) Under the pressure of the
British liberals

(C) To protect British Capital
growth

(D) To balance Indian

foreign
trade
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l%(\ (\\n\\':}..\!‘ ‘mm”\]’] (';‘ﬂ\\s\\t\‘ ST, WO Q® l
U Q(ﬁ;\“ 9 6. Which one iy not related with

learner centric education ?
(A) 899 dag¢ PIRYNG A6a Q99 (A) Emphasis given in child’s
QIR lcarning experience

(B) Teacher acts as a tacilitator
(B) d9ga Q8 QOEa Q6Q R ol learning

() Teaching through question-

C) g6 ' O &
(C) g6gIea arinea SRR answer method

(D) §8101 §aa JRAIR 6000 (D) [.L‘Ell'llt‘l'lils the central point

" of learning process

[37. Qera1e 8RIcig 0Rel QIx 89 606 | 137. What type of question should the
Y 9q Q010G 2119eye 7 teacher ask to identify creative

N - children ?

(A) QUKD [N

(A) Activity-based

(B) @QIQI0e _ .

(B) Diagnostic

@6l 0aR : bled
(C) e@giag d (C) Convergent thinking

-—

(D) @89 eae (D) Divergent thinking

138, @'@ QIR Q608 IQ-gaIQ O8Q 2R | 138, For what is the Trial and Error

TrRgQ ? . method more effective ?

(A) @&y Q°ge *aSI aIsl (A) Collection of data

B) afo'm@@qel QiR (B) Memorisation of lessons
© _'aQ@@f%‘a Q‘REG‘I iR (C) Arriving at conclusion

(D) Achievement of skill

| (D) coleR SR Qa6 aia
" . [89] (Turn over)



Techofworld.in

130, 2806 d1 @' ?
(A) SR€6RQ 212 TNIG BN YRS
(B) 9Q86Q Qg ORI A4S RS

(€) Qg Q9 SNIIS AR 2K
QL 98¢ QEQIQ

(D) 8Re0 819G QI8 §86 geaia
[40. @091Q 881018 6 §84a QAL X'Q ?
(A) N2 O 28R REQR FAIY
(B) w9 216010 sQIquQeg

(C) 991 Q¥ 8 QU 6910120 9d2lIg

(D) <2 391088 aMR, Qedale @
FENION 6991 QIR SR copelg

[41. 609 6QISe 2Qe6qlg 2160196,
NAGAER 2BYe Fam ?

(A) QR RS oge
(B) qeein aeeig aga
o {0) Qe Il oge

(D) 298¢ Paieae

141.

OTET-P-11/17(15

139. What is inclusive education ?
(A) More emphasis on gifieg
learners
(B) More emphasis on sloy
learners

(C) Learning opportunity with
rights for all category of

learners
(D) Learning opportunity for the
disabled learners

What i1s the importance of
teaching-learning history ?

140.

(A) Itgives rise to human vanity
(B) It provides amusement

(C) It ¢ncourages wars and
conflicts

(D) It trains to be rational,
creative and imaginative

Which was not included in the

Programme of Non-Cooperation
Movement ?

(A) Boycott of government
function

(B) Resignation from government
Position

(©) Boycott of foreign language
™M .



142, 2869 ige o' Uml ?
(A) SQeriesq 9 Q°Q0e
(B) udiaeqiq zigoine
(C) 21yfe gelae a°qiq
(D) 2E6a00 2918 aaas

[43. 919019 91919 R°69QAQ AlNIQg
UELINER @ ‘NG 8197 gaIe
2196 @ em ?

(A) 6€1IRQN YR [IRUA E’JIG?-IQ
(B) SQI9aRm 60629
(C) dLQ RO A6TR
(D) awiqll Q{1

144. 600161 QI 6219 ALTIYQ 0169 @’
QAOR @QEEM ?

(A) QTS QIS 6K

(B) 2191Q 26T

OTET-P-11/17 (1st)

142, What was Abhinav Bharat ?

(A) Sect society of revolu-
tionaries

(B) Religious reform movement
(C) Modern publishing hpusc

(D) Economic development
council

143. Who did move the ‘Quit India’
Resolution at the General Session
of Indian National Congress ?

(A) Maulana Abul Kalam Azad
(B) Jawaharlal Nehru

(C) Sardar Ballabhbhai Patel
(D) Mahatma Gandhi |

144. What did Netaji Subhash Bose.
form in Singapore ?

(A) Free India Centre
(B) Indian National Army

(C) Indian Independence League

(D) Indian National Government
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145. @09 9 9010160 RW6RIQ6Q | 145.What did help growth of

FIGIAGINIC IRIH QIS 9’9 A9 nationalism in Europe during

CRIQYMI ? nincteenth century ?
(A) 989191 QLR (A) Powerful Monarchy

(B) IR QIS 645G (B) Enlightened Clergy

(C) QQIQ AUl 6gen (C) Liberal Middle Class
(D) «I19¢ Qe 6q1q1 (D) Awakened Peasantry

146. 9°QQ19 AQIQ6Q 699 AR1949 @igl | 146. Whom is the Union Council of

JIGIEq QRQQUAT ? Ministers responsible in a Parlia-
mentary form of Government ?

(A) UgAQ

(A) President
(B) gquiena .

(B) Prime Minister
(C) eneaal

(C) Lok Sabha
(D) QUYL

(D) Rajya Sabha

147. QIR4QRIQ AGQY 6291 TIR 964 Q43Q 147. What is the minimum agé required

PN QU 6R60 629 284S ? Qf a person to be a member of
Rajya Sabha ?
(A) er
(A) 18
(B) 98
(B) 25
AC) 99 : C) 32
i (D) L : D) 35
SEALY SET,C “f;‘i’;, [92]

Sy . (Continued)

kiR,




148 codt OTET-P-11/17 (1st)
- S99 6QIGR ginEee 98 Gige

148. Which one is : >
- * 18 not related to the
1991 926 qeyg Q68 7 :

Local Self Government System of
rural aregys

(A) aBlI96 Q&
(A) Panchayat Samiti
(B) &quadee
(B) Zilla Parishad
(©) qin asine
9 . (C) Gram Panchayat

(D) eride 2mqe gage (D) Notified Area Council

[49. 6@Q 6915 Q10 saIm1q QY ? 149. Which is the function of the
Pressure Group ?

(A) AR gRieRIa gei w ,
(A) Propagation of social values

(B) @996 g0 . ; i
(B) Formation of public opinion

©) ﬂiﬁmsf, QIOR 9197 G<leqeq (C) Contesting in Local Self
oY . Government elections

(D) 8901817 0@ 80 G@IG?@G‘I (D) Lobbying with party in power

150. 62@69I5 7199 24QI9Q ARTe |150. Which does violate human rights ?

@eQ 7 (A) Life imprisonment by court

" of Law
(A) @0IRIRA Q9 ZIFIR QIS

(B) Collection of tax by the
(B) QAUY QI @ 2191 fation

(C) ZIQR anTaaiaia cacreiQl (C) Arrest of law violators

(D) Forced labour

(D) 6<0 €58
¥ o % [93] (Turn over)
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